I RR—V-IREAMEEX

FEATH 4 6 6 FEpT
TEHEEE 31HA
e LA 20 91&M
AR B E S O EICFE 28HEA
AR« B H S E S SER OFRTE L 17 5(&M
U — ZAER5E b 1 81&H
Lo 2 OVEERTGE B 15 81EH
A=Y - BRI B S EER O ) — RS 1 8f&M
(153720 ]

1 HEEPTG 72 0 E3EE K (N
1 B3P Y 7= 0 AR LS 4 557
1HEF YT AR — « PSS EROFEEEEK 6 A
1 FEFYG T2 AR— « B EEEGFOFME B 38HNIH
1 FHEFTYT2 D AR =« B EEES D U — R EMZZ & 61HHFH

1. ¥R nEm
(1) BXEME
ERR2 VD AR = « B S E RSO FZEFTHUL, 466 FEFTLR>TD,
D BEMRBAEEAK
REERAREBNC D & T4k 23 267 FEEPT (R 57.3 %) EHI6%E12 5 TRY, MEARRE 123176 5
77 (A 37.8%) L7p>TWA,
F1—1x FEHEBRSEERN

R 214
HERLE )
g 466 100. 0
= Zan 267 57.3
A DN - HE 24 5.2
1 A % = 176 37.8

1 KN DR A TOE A IS TAE LTS, 2070 EHENIRO G E L5 LW a7 5, LLF DS [FIkE,

Q@ BIMEZRT- A -ZHRIEERE
MR - AL SRR 22D & THANERZERT 23 373 ST (A 80.0 %) . T4 A3 49 45T
(If1 10.5%) | 3t 25 43 FEEPT ([ 9.2 %) Lle>Tnd,
F1—2F% BB A4 -ZAHRIBEMY

W BT - ACKE - Ak 214
WL (%)
Bt 466 100. 0
B yiit + E S Pt 373 80.0
%N 1t 49 10.5
x gan 43 9.2

(D Y —24ERFE EET, SRR OERTE LB BL L 2VERTE EEAELE W CEHLEL O,



Q MEEEREANEERH
PEHEFHRERNZADE, T4 NPLUF ) BAE 238 S347T (Rl 51.1%) Eich <, IRWVVT, TBEA~9 A |
FIAEN 144 3T ([F] 30.9%) . [10AN~29 A IR 78 SH3EPT (JF] 16.7%) 72 E 7o TuNd,

$1-3% EERRINEXFH

I R T R ] 214
Ak Ee (%)

=t 466 100.0
4 A LA T 238 51.1
5 A ~ 9 N 144 30.9
1 (@] A ~ 2 9 A 78 16. 7
3 O N~ 4 9 N 4 0.9
5 O A LA = 3 0.6

(2) EEEH
TEEFHIT 3L A AL TS,
D BLREEEHN

BN IDE, THYE 23 21 TN (bt 69.9 %) . T4 1728 9 i A ([F] 30.4 %) E7e>TuND,
@ ERMERNEEERK

JERERERNC AL, TTEMAE - EFRE 25 9 B A (A 30.2%) BEKI3EIZ 6D | IRWNTI =K T Lo
Red 1239 BN (Rl 28.6%) | [EGRFREHE 1235 I A ([A] 15.7%) 728 L720 | [[/3—h T A1 el ]
Ok FER AR AE R 5 HALR->TND,

T, FEMBEROFENLFEILILE A, ZOIBTHIRE OFEFNHLIRESIVTND AT 47 A
REFFENEFHERIT L.5% 72> TND,

F1—4%k BLi. ERAREBIKEER

L TR SR R T 214
[@N) R EE (%)
gy [TE A ST 3,083 100. 0
Zz |5 2, 145 69. 6
Cal ES 938 30. 4
VE e £ Gt 3, 083 100. 0
15 N 2 T35 M VIS DO SERTE S 271 8.8
= Fifatk & 515 16. 7
| E AR A 1,813 58. 8
Vi EfRE - IERE 931 30. 2
:E}IE} R— kK s TR R Y 882 28. 6
(k. ¥ WeF ] 68 55 e FH 55 250 472 -
Kl I FH 3 484 15. 7
B E OFFEFTICYRIE LT D A 10 0.3
s = e % 214F
= PT AR O REF I A (O] 3,121
BIRRE OFZET L LIRE I TULND A B (N 47
FEHFERICTTIIREBSNLTWD ADEFE B/A (%) 1.5
AR - PR H M EE RS O FENEFEH K [@N) 2,781

Q) FEMTLE
FEMFE EEE, 209 EH 7o TD,
ZDHH, EETHHAR—Y PLEH N EEEFOFEMTE EEid, 175 [EM T, AR —Y SR EE



EOFEMTE EEICEDLEIE1X 83.9%L /2> TND,
F7o, FOMZERS (WEE) OFRIFE EEIL, 3370 [EME7ro7-, ZOMEFEDON
175 1046 (B FEREE 5.0%) Eichm<ie>TA,

$1-5% XBHFERETLS

{

EHDHE [TOMMDIE

214~

ES Ee bEll| CE 75 1D
Al 3% L (%)
=t 20, 895 100. 0
= — > - oNs H OSh B ORY ¥ B (B ) 17, 524 83.9
Z 7> A1, ES %5 C e % D 3,370 16. 1
EO¥E O OH B B 2% H & & ¥ OB x x
= % OH O BE sk B2 H &\ & OB 124 0.6
£ E53)] H = = ES %5 x x
= o fh o s ' s X B 254 1.2
ay i E S PES 192 0.9
gl 7e N e ES %5 1, 006 4.8
& ik 15 [s5% E S ¥ — —
Yo— B R ¥ B (M S R ¥ A& B <) 739 3.5
= 2] A, D B % 1, 046 5.0

(4) FHEXRER

R ZEE L, 186 (B, A7 L@ 50 5EIA1E, 89.2%L 72> TuD,

e B FIK RN oL, Tia5-30

N
H

([f] 9.9%) 72 Llp>TUND,
o, FERE EMEEEEISEIL, 19 BT KON AL HREEERE) A 18 [EH (ki

95.8%) LOFIZH X 1FEAE HOTWD, THIZEEEE]NiRE2DHE, [ - & DO AT E EE ] 2

8 {1 (AL 41.8%) EK94EIZ HD TS,
7 V—ABREEERSEIT, LEM ST,

F£1—-6%k FHEXEH

KaBEH 178 6036 (2 (FERk L 32.4%) . [ 5-& FEJUE | A 1854 (&

2147
#Hy M X o 7] (EH 7D
L (%)
g 18, 641 100. 0
e 5. 53 e A %H 6, 036 32.4
= 5. ©“ PE V54 it} 1, 854 9.9
Uy — 2 ¥ & & pE W M 99 0.5
= & Ji Aiffi 252 1.4
bz (i =1 A E=¢ 1,129 6.1
= 1& Bt 1,453 7.8
+ icic) . =8 4 915 4.9
B s ®B 5 K 28 537 2.9
< D 1th, 71 0.4
Z o i o o ¥ M 467 2.5
F1—7% FREXRAETEEENGEE
2 14
o' P X 4y Bl (HE 7D
8 5 L (%)
Ei 1, 873 100. 0
¥<) ViE5 s <3 PE 1, 794 95. 8
e bk - 8% W O 950 50. 7
L X - U — Rk 637 34.0
F % @ 18 B == 114 6.1
- %) fth, 200 10. 7
+ Hh 61 3.3
Ay - T oMo F I E E G E 783 41.8
Biiig & = & PE 79 4.2
F1—-8F%K FR—RABREEENGE
I 2 14
- - (B 5 )
A5 %8 141




2. AR—V-IRERARE
(1) EXMFEH
AR—= PRI EREBOFENFELL, 28 A ALR2-TVD,
FEHHMBNC AL, - EET 2% 15 5 A (R 52.2%) ERI5EIE O TV D,

F2—1R AR—V-BEAKREEXRHOXRHMFIREEREEN

BEXB(ER 0o8m

% B W ) 1 21
(AN | MRk
i 2,781 100. 0
4 . G ' 1,453 52. 2
TS - . (G 745 26.8
- D i 584 21.0

(2) EXDOEMFT LR
O xHBEENFERTLS
SEBOERE EEIL, 175 EH 7> T,
INE)—A, LU BNVRINCHDEL o 2VAERITE s 168 (B (Rt 90.0%) L9%IA | U — A4/
B9 17 18 (J7] 10.0%) 72> Td,

F2—2k AR—V-IRERAGEERBOEBEENERT LS

21

£ 0B M # M (B M)
HEAE (%)
i 17,524 100.0
Y — 2 1,753 10.0
% V 4 W 15,771]  90.0

Q) EEMHNOEARRER. BEHBRU. 1 BEMELVOFEHMEEAHE

(22— 2 —R—F | O RAEIE, 19 )7 8717, FHEIE, 79 7 1228, FiE ¥ HHUT, 135 HE
7potz, THERE O RAEIE, 10178, BT, 67 77 1334, ERIEE AL, 262 ALleo7z, Iavh,
T—H—R—F DOpELEA RN L, 6550, FH%EIE, 35 5 5920, 4ERE 2 AL, 249 HE/po7, [FUh)
O IRA U, 56 /7 8676, HHEKIT, 111 17 6065, A=[E 3 B £, 279 HE&/po7=, (2Ot O~
A, 13 77 7346, BT, 44 77 1270, 4EREE ¥ A E0E, 305 H&AoT-,

V—AZKI S REFERNC Dl TATER I —E A% 18373 8 B (FERktL 43.4%) . [ —E 2% 18
7EM ([F136.2%) . [ RENEZE, Wit &S (RIZEE AR 123 2 &M (7] 10.4%) C, ZD3FEZHETY —A4FfH]
THIEDO9ENE Hd D,

LU A NVFHI S pESERNC DL T2 DM D TE A 125 30 (B Rk 18.9%) EF02%E1% 5w ki ClE
TEBE - — A% BASEE 173 24 (81 (IF) 15.4%) | T —t 23] 23 {81 ([F] 14.8%) 72 L L7 >TD,



$2—-3% BEEVHNIOBEARRER. BHERUF IEXRLALYOEREXBEH

[EE it
) 17 Bl 2 1 4= o 1 4
=® x — A7 = R = I
] o 15 = % 198, 717
i i % H % 791, 228
A Fi ,E? £ ] E2s — 135
2 2 — ~
53] M 15 EZ3 P *
il o o H e x
A Fi :é? £ ] Es — x
= s E
] Ch 15 E2S B2 10, 178
il i ¥ H 5 671, 334
4= [ =4 ES H % — 262
ElE = = — % — K —
5] = [ B2 E2% 6, 550
il i 5 H 5 355, 920
4 R B £ H 5% — 2419
= > L
5] = [ B2 E2% 568, 676
[ i % H %% 1,116, 065
4 i =4 ES H % — 279
= D 1th,
] o 1 E2 % 137, 346
[ i % H %% 441, 270
A f ,E? £ ] E — 305
F2—AFk RFEXEMN)—RERBENE
214F
£l 9 e P % B CE 77 D
D)
&t 1, 843 100. 0
s 5 E2 — =
e itk BE - -
wmR - TR - B fE - Ok B ZE — —
it &2t i & £ - -
BEEA Hig ZE s {5 B x x
iz} 7B E = s /I~ e % 24 1.3
&= [ZLY E = s (eS 5% ES - -
TFHEIPEH, M EEHK (FIZXEEH 2B <) 191 10. 4
/P owE ogR o, B PR - B Y — B X ZE 28 1.5
i W™ ¥, 27 < 7 S =~ SR 88 4.8
A B Yy — vBox F o, o ZE 800 143. 4
EZ4 =) s = = 3 = e 31 1.7
B — e = £ 668 36. 2
o5 5 x x
[=] ES E 7 0.4
< D {th, - —
< a> 1t D PE ES — —
A1 A _ _
F2—5FK HEEXEFLOFIILERT LS
214F
2 ] e PE £ 21| Q= AP
R Bk L (%)
B 15,771 100. 0
= X E S 1, 053 6.7
" i ES 281 1.8
B - R - Bk - Kk GE ¥ 7 0.0
I T BT 15 £ 193 1.2
i i ES , R (Ll e 16 0.1
N e E S , 7N e £ 193 1.2
4 =Y ES , (LS [ ES 17 0.1
FENEXE, i EEEX (FHEHZE ) 92 0.6
2 wE ge, EPRO- Bl — B X 2 75 0.5
m=o o 2k =/ G =N — B = ¥ 2,039 12.9
A B HE Y — B X ¥, R O g 2,424 15. 4
ES ‘B , 5 = = Pz ES 618 3.9
- — 1= = £ 2,331 14. 8
7N 5 1, 391 8.8
] ES = 1, 084 6.9
< D fth, 3, 957 25.1
- D 1th, 2] PE E S 976 6.2
{1 A 2,981 18.9




(3) #BERFIRA
O BEMH
ABENF RN TR A Dl REFDS 44 SF3EFT (FERKEE 9.4%) | f&lAs 43 ST ([F] 9.2%) . BT
23 37 FEEFT ([R] 7.9%) DIEE 72> TUND,
Q@ BERBEW
AR B B S O FENEFE A HHE N3 H N (R 10.2%) . B3 H A (A
9.8%) . AMFEN 2 A ([ 7.7%) DIEL72> TS,
® ZFMFELS
AR B B S OFRITE ERa sl FURDS 21 (& (R 12.2%) . BE2S 19 EH
(I71 10.9%) | f&fd 3 15 &M ([7] 8.7%) Dlifik7a>Tu b,
VU BNVRITCHRDE, Lo ZVAERTGE B, fahiAs 15 (&M R 9.7%) Lle>Tind,

F2—6FK AR—YV-REAGKESEFHOMEMN RAEXMY. EXUAEEL. FRT LS

. . " R R L J—2 LA
— T FEMLFER e B R R
- K b Hi Bl b R R L % b % b
(%) N (%) (HHM) (%) (HHE) (%) (HHE) (%)

& [H 466 | 100.0] 2,781 100. 0 17,524 | 100.0 1,843 100.0| 15,771 100. 0
. ¥ & 19 4.1 214 7.7 546 3.1 82 4.4 464 2.9
H * 12 2.6 48 1.7 268 1.5 - - 268 1.7
b= ES 3 0.6 8 0.3 x x - - x x
= Ik 4 0.9 60 2.2 639 3.6 x X 583 3.7
K H 6 1.3 17 0.6 x x - - x x
i} i 3 0.6 26 0.9 x x - - x x
f& 5 11 2.4 103 3.7 332 1.9 - - 332 2.1
/S Ik 8 1.7 22 0.8 58 0.3 - - 58 0.4
i & 5 1.1 28 1.0 173 1.0 - - 173 1.1
is3 B 9 1.9 42 1.5 148 0.8 - - 148 0.9
B B 14 3.0 131 4.7 x x - - x x
T E 31 6.7 126 4.5 442 2.5 x X 300 1.9
w" Iy 37 7.9 285 10. 2 2,131 12.2 x x| 1,182 7.5
o 16 3.4 44 1.6 265 1.5 - - 265 1.7
i 5 16 3.4 74 2.7 340 1.9 - - 340 2.2
B 1] 1 0.2 2 0.1 x x - - x x
e i 3 0.6 13 0.5 x x - x x
H s 5 1.1 10 0.4 x x - - x x
i} Z 23 4.9 80 2.9 596 3.4 - - 596 3.8
I LG 44 9.4 273 9.8 1,908 10.9 526 28.5| 1,382 8.8
7 B 9 1.9 55 2.0 324 1.8 - - 324 2.1
Hi fif] 6 1.3 25 0.9 54 0.3 - - 54 0.3
g sl 17 3.6 96 3.5 756 4.3 - - 756 4.8
= H 6 1.3 34 1.2 284 1.6 - - 284 1.8
A = 8 1.7 41 1.5 198 1.1 - - 198 1.3
K #h 4 0.9 28 1.0 x x - - x x
x 3 7 1.5 98 3.5 x x - - x x
% Ji#E 17 3.6 62 2.2 148 0.8 - - 148 0.9
z= B 9 1.9 50 1.8 x x - - x x
Fo &k 5 1.1 56 2.0 734 4.2 - - 734 4.7
=1 HY 5 1.1 28 1.0 x x - - x x
= Gt 4 0.9 20 0.7 x x - - x x
] il 4 0.9 28 1.0 432 2.5 - - 432 2.7
I 5 4 0.9 30 1.1 248 1.4 - - 248 1.6
(i ] 4 0.9 15 0.5 65 0.4 - - 65 0.4
& I - - - - - - - - - -
ﬁ I 1 0.2 6 0.2 x x - - x x
g 1533 2 0.4 8 0.3 x x - - x x
5] sl 8 1.7 16 0.6 67 0.4 - - 67 0.4
iz fif] 43 9.2 170 6.1 1,522 8.7 - - 1,522 9.7
e = 2 0.4 17 0.6 x x - - x x
£ R - - - - - - - - - -
He ZN 11 2.4 103 3.7 609 3.5 X 609 3.9
X i 1 0.2 17 0.6 x x - - x x
=y 7y 1 0.2 16 0.6 x x - - x x
R 1 0.2 10 0.4 x x - - x X
i bl 18 3.9 145 5.2 460 2.6 - - 460 2.9




